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10.

OR (372rd)

Describe system approach to management.

yded ) feom & Reed vua &1 avia & |

Write down the importance of location of a textile
plant. Explain the various factors which determine

the location of a plant.. 6

TUh I HREM & W © Agcd Bl fold |
frdl REM @ w9 o AaiRd 9 9
faftr=1 eR®I & FRAT B |

OR(3721dT)

Describe the important points to be considered in

any management control system.

fodl yqea—fra=r ugfa & yge fdgar a1
ATET BN |

Write about production scheduling and sequencing.

Describe forward and backward scheduling. 6
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Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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5. Write a short note on National Textile Corporation ()  HRAT S H, IRAE 9SS —SE T
(NTC). 4 BT A 2—
(31) ugar
IS 3 9 ) e @y Ale fad | @) gExT
(|) dra=r
OR(372raT) (c) @tem
Describe briefly about organised and unorganised (i) The art of knowing exactly what is to be done

and the best way of doing it, is called as-

sectors of textile industry. () Classical Management

qei—eel @ uldd ud aifdd a9 & daR (b) Administrative Management
.. . . (c) Modern Management
d Hay A avfa o | (d) Scientific Management
6. Write about important characteristic of a good shift (i) T BT 27 el Nt B B waw
supervisor in a textile mill. IV T A JHIfed A D ST Bl
4 SIS &1 Bl &Y bed 8—
T9 dREM ¥ e I8 Rive widgs @ (31) URFERTTG g9E
@ aRka & aR A fae | (@) gemTESIA yE
(|) sgfe gdes
OR (o1 (2) A=t ydeaA

: L o , (iv)  In textile industry the cost of production may
Discuss in brief the elements of costing in a textile

be reduced by reducing-
plant. (a) Raw Material Cost

(b) Transportation Cost
Uh 9 Wiic # ANTdI®RUT & 3[audl &l (c) Labour Cost
fad==r &89 % HY | (d) All of these
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qaTfEd Ud o—

(31) SUBR qAgAT GRET DI A
@) @ va = Fafecar glaen
(&) ®rd & giEr

(%) Surqa g+

GROUPB

Answer all Five Questions.

gl uig g3 & SN < |

2.

4x5=20

Write down the prospect of Indian Textile Industry.

4

AR TS B FAGR D greel o

ford |

OR (3121an)

Write about the importance of Textile Management.

TEH-Y4EE ® HEd & IR # fad |

NT5054

(vi)

(vii)
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ARAR TF—3eT H {58 gdR &1
GG B graffiear <1 ot 8-
(31) gaq ¥@—drq

@) smgfa v@—=aEre

(|) sd919 Y @—Erd

(]) 9@ ST Y@-—E@G

Total Quality Management (TQM) involves.
(a) Long term commitment

(b) Short term commitment

(¢) Medium term commitment

(d) None of these

quf Ipura<r yees (Slodgol¥Ho) B, Tdb
(31) <l sraftra &

@) <g @t ok

(|) wew aferg srd

(]) SWiad Big T8l

The location of a cotton textile plant should
be near to.

(a) Forest

(b) Mountain

(c) Sea-Shore

(d) None of these
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Uh 9 ST § 68T YG-—IE[d &
PHIRUT BIdT 28—

(31) >arer SdreH

@) = @ 91 g3 Gwan

(|) 99 9 SMHd 99y

(%) SwRiaa =

Which one of the following is a material
handling device-

(a) Belts

(b) Shaft

(c) Hoists-cranes

(d) Power

3 B9 th A dvsfel T I3 32—
(@) deT

@) e

(@) BrRe—%+

(]) Ut

Capital required to meet the day to day needs
of a running business is known as-

(a) Debenture

(b) Inventory

(c) Share Capital

(d) Working Capital

NT5054

x)

(xi)

(xi)
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IR &I 98 Ugla a3 Ik
E AT §UE § BT 8, b $Hal ordl a—
(31) = Saured ugfa
(@) |19 Saured gl
(@) wife 2Ty Scued ugfa
(2) SRiad dIg T8

Process Layout is also known as-
(a) Product Layout

(b) Line Layout

(¢) Function Layout

(d) None of these

T d—3THe bl BT SIldl 2—
(31) dsde d—3Mmec

(d) aIE9 d—3Mmec

(4) Bd—E d—3Mec

(]) SWRIad HIg 2]

The place where men, material and machines
are brought together is called as-

(a) Store

(b) Workshop

(c) Market

(d) Plant

P.T.O
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11.

Iared RiegfeT vd o9 @ IR 4 fod |
Bigs Ud dwas RggfeT &1 avfq & |

OR (3121a1)

Write about material management. Explain different
functions of material management.

Y gded & IR ¥ fad | 9 ysed &
faftr=1 sl @ aaraEr a3 |

Describe the various functions of quality control
department in a textile mill. Also mention the merits

of quality control.
6

S 9E—d § qorEadr—Eaer & fafr=
SRl &1 quid &Y | I[urEdr A & Ion
&1 1 fad |

OR(3721dT)

Calculate the number of blowroom lines, cards,
draw frames, speed frames and ring frames required

to produce 3000 kgs 40° cotton yarn per day.

P.T.O
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11.

Iared RiegfeT vd o9 & IR d fod |
Bias Ud d®was Rggfe &1 avfq & |

OR (3121a1)

Write about material management. Explain different
functions of material management.

I gded & IR ¥ fad | 9 ysed &
faftr=1 sl @ aaraEr a3 |

Describe the various functions of quality control
department in a textile mill. Also mention the merits

of quality control.
6

veh 99— | ugar—fEan & =
SRl &1 quid & | I[urEdr AT & Ion
a1 A fod |

OR (312141)

Calculate the number of blowroom lines, cards,
draw frames, speed frames and ring frames required

to produce 3000 kgs 40° cotton yarn per day.

P.T.O
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